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[3804]-101

M.A. (Part I) (First Semester) EXAMINATION, 2010

ECONOMICS

(EC-101 : Micro-Economic Analysis—I)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) “Inductive and deductive methods are both needed for economic

analysis, as the right foot and the left foot are both needed

for walking.” Discuss.

(2) “The consumer’s equilibrium occurs only at a point of tangency

between indifference curve and price line.” Discuss. Show how

indifference curve analysis is superior to the Marshallian cardinal

utility analysis.

2. Answer any one of the following questions in 500 words : [20]

(1) State and explain Prof. Samuelson’s revealed preference theory

of demand. Explain the criticism have been levelled on it.
P.T.O.
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(2) What is consumer’s surplus ? How is consumer’s surplus measured

with the help of indifference curve ? Critically evaluate the

concept of consumers surplus.

3. Answer the following questions in 250 words each (any

two) : [20]

(1) What is Iso-quants ? Explain the properties of

Iso-quants.

(2) Explain in brief the law of variable proportion.

(3) Distinguish between economic cost and accounting cost. Which

should be taken into account for calculating the economic profit

of the firm ? Why ?

(4) What is average, marginal and total revenue ? Illustrate

these concepts with the help of curves and suitable numerical

examples.

4. Write short notes in 100 words each (any four) : [20]

(1) Importance of micro-economics.

(2) Cross-elasticity of demand.

(3) Internal economies and dis-economies

(4) Long-run average cost curve.

(5) Cobb-Douglas production function.

(6) Static economics.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) ^^T;kizek.ks pk«.;klkBh mtO;k vkf.k MkO;k vðkk nksUgh ik;kaph xjt vlrs

R;kizek.ks vkfFkZd foð«s"k.kklkBh vkxeu vkf.k fuxeu vðkk nksUgh iºrh vkoð;d

vlrkr-** ppkZ djk-

(2) ^^miHkksDR;kpk lerks« QDr leo`Ÿkh oÿ vkf.k fdaer js"kk ;kaP;k LiðkZfcanwrp

?kMwu ;srks-** ppkZ djk- ekðkZ« ;kaP;k la[;kokpd mi;ksfxrk foð«s"k.kkis{kk

leo`Ÿkh oÿ foð«s"k.k dls Js"B vkgs rs nðkZok-

2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) izk- lWE;q«lu ;kapk ekx.khpk izdV ilarh flºkUr lkaxk o Li"V djk- R;koj

dj.;kr ;s.kkÚ;k Vhdk Li"V djk-

(2) miHkksDR;kps larks"kkf/kD; Eg.kts dk; \ leo`Ÿkh oÿkP;k lkgk∏;kus miHkksDR;kps

larks"kkf/kD; dls ekstrkr \ miHkksDR;kps larks"kkf/kD; ;k ladYiusps VhdkRed

eqY;ekiu djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) le&mRiknu oÿ Eg.kts dk; \ le&mRiknu oÿkps xq.k/keZ Li"V djk-

(2) cn«R;k izek.kkpk fu;e FkksMD;kr Li"V djk-

(3) vkfFkZd [kpZ vkf.k «s[kkarxZr [kpZ ;krh« Qjd lkaxk- m|ksxlaLFkspk vkfFkZd

uQk ekst.;klkBh dks.krk [kpZ fopkjkr ?ksrkr \ dk \

(4) ljkljh] lhekUr vkf.k ,dw.k izkIrh Eg.kts dk; \ gÓk ladYiuk vk«s[k

vkf.k ;ksX; lkaf[;dh; mnkgj.kkP;k lkgk∏;kus foðkn djk-

4. [kk«h« Vhik izR;sdh 100 ðkCnkr f«gk (dks.kR;kgh pkj) % [20]

(1) lq{e vFkZðkkL=kps egRo

(2) ekx.khph Nsnd «ofpdrk

(3) varxZr cprh o rksVs-

(4) nh?kZdk«hu ljkljh [kpZ

(5) dkWc&MX«l~ mRiknu Q«u

(6) fLFkrhðkh« vFkZðkkL=-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-102

M.A. (Part I) (First Semester) EXAMINATION, 2010

ECONOMICS

(EC-102 : Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Draw net diagrams wherever necessary.

1. Answer the following questions in 500 words each (any one) : [20]

(i) Explain in detail the Fiscal functions of the Government.

(ii) State and explain the meaning, types and determinants of “Taxable

Capacity”.

2. Answer the following questions in 500 words each (any one) : [20]

(i) Explain in detail the principle of Social Cost Benefit Analysis.

(ii) Critically examine the theories of Tax Shifting.

3. Answer the following questions in detail with 250 words each

(any two) : [20]

(i) The role of Government in Mixed Economy.

(ii) Explain the “Wagner’s Law of Public Expenditure”.
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(iii) Explain “Wiseman-Peacock Hypothesis” of the growth of Public

Expenditure.

(iv) Distinguish between Impact and Incidence of Tax.

4. Write short notes on (any four) : [20]

(i) Private Goods and Public Goods

(ii) Benefit principle of Taxation

(iii) Pure theory of Public expenditure

(iv) Types of Incidence

(v) Classification of Public debt

(vi) Public debt Management.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) ðkklukph ^jktdks"kh; dk;sZ* lfoLrj Li"V djk-

(ii) ^djns;ik=rk* ;kpk vFkZ] djns;ik=rsps izdkj vkf.k fu/kkZjd ?kVd lkaxk o

Li"V djk-
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2. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) ^lkekftd [kpZ&«kHk foð«s"k.kkps rRo* lfoLrji.ks Li"V djk-

(ii) djlaÿeukP;k flºkarkps VhdkRed ijh{k.k djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(i) feJ vFkZO;oLFksrh« ljdkjph Hkwfedk-

(ii) lkoZtfud [kpkZpk oWXuj ;kapk flºkar Li"V djk-

(iii) ^^okbZteu&fidkWd** ;kaP;k lkoZtfud [kpZ o`ºhP;k x`ghr dYiuk Li"V djk-

(iv) ^djk?kkr* o ^djHkkj* ;krh« Qjd Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) [kktxh oLrw vkf.k lkoZtfud oLrw

(ii) djkjksiukps «kHk rRo

(iii) lkoZtfud [kpkZpk ðkqº flºkar

(iv) djHkkjkps izdkj

(v) lkoZtfud dtkZps oxhZdj.k

(vi) lkoZtfud dtZ O;oLFkkiu-



P.T.O.
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[3804]-103

M.A. (Part I) (First Semester) EXAMINATION, 2010

ECONOMICS

(EC-103 : Agricultural Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 500 words (any one) : [20]

(i) Explain the causes and remedies of low productivity of Indian

Agriculture.

(ii) What is Green Revolution ? Explain the nature and recent

developments in Green Revolution.

2. Answer the following questions in 500 words (any one) : [20]

(i) Explain the role of Co-operative Banks in Agricultural Credit

System.

(ii) Describe the problems of Agricultural Marketing in India.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Evaluate the progress of Indian Agriculture during the period

of Five Year Plans.
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(ii) Describe the food security situation in India.

(iii) What is Agricultural Management ? State the recent trends

in the Agricultural Management.

(iv) Compare the prices of Agricultural Goods and Industrial Goods

in India.

4. Write short notes on (any four) : [20]

(i) Sources of Irrigation

(ii) Scope of Biotechnology

(iii) Unorganised Credit System

(iv) Types of Agricultural Marketing

(v) Self-help Group

(vi) Problems of Agricultural Management.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) Hkkjrh; ðksrhph mRikndrk deh vl.;kph dkj.ks vkf.k mik; Li"V djk-

(ii) gfjr ÿkarh Eg.kts dk; \ gfjr ÿkarhps Lo:i vkf.k vf«dMPpk dkˇkrh«

lq/kkj.kk Li"V djk-
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2. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) ðksrhP;k irO;oLFksrh« ^lgdkjh c°dkaph* Hkwfedk Li"V djk-

(ii) Hkkjrkrh« ðksrek« foÿhO;oLFksrh« leL;k foðkn djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(i) iapokf"kZd ;kstuk dkˇkrh« Hkkjrh; ðksrhP;k izxrhps ewY;ekiu djk-

(ii) Hkkjrkrh« ^vUulqj{ksph ifjfLFkrh* foðkn djk-

(iii) ðksrhps O;oLFkkiu Eg.kts dk; \ ðksrh O;oLFkkiukrh« vf«dMP;k dkˇkrh«

izo`Ÿkh lkaxk-

(iv) Hkkjrkrh« ðksrek« vkf.k vkS|ksfxd ek« ;kaP;k fdaerhph rq«uk djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) t«flapukps ekxZ

(ii) tSora=Kkukph O;kIrh

(iii) vla?kVhr irO;oLFkk

(iv) ðksrek« foÿhO;oLFksps izdkj

(v) Lo;algk∏;rk xV

(vi) ðksrh O;oLFkkiukP;k leL;k-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-104

M.A. (Part I) (First Semester) EXAMINATION, 2010

ECONOMICS

(EC-104 : Indian Economic Policy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(i) State the nature of unemployment in Indian Economy. Critically

evaluate the measures adopted by Government of India to eliminate

unemployment.

(ii) Critically examine the Government’s policy towards Public Sector

since 1992.

2. Answer the following questions in 500 words each (any one) : [20]

(i) Explain in detail Money Market and Capital Market Reforms.

(ii) Describe the role of small scale industries in Indian economy

and state the problems faced by small scale industries.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain demographic features of India.

(ii) Comment on the problems associated with privatisation.

(iii) Evaluate the Social Infrastructural Development.

(iv) What are the problems of labour market in India ?

4. Write short notes on (any four) : [20]

(i) Rural-Urban migration.

(ii) Problems related with Agricultural Marketing in India.

(iii) Energy problems in India.

(iv) Growth and Pattern of Industrialization.

(v) Nature of poverty in India.

(vi) Liberalization.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) Hkkjrh; vFkZO;oLFksrh« csjkstxkjhps Lo:i lkaxk- csjkstxkjh deh dj.;klkBh
Hkkjr ljdkjus ;kst«sY;k fofo/k mik;kaps VhdkRed eqY;ekiu djk-

(ii) 1992 uarj lkoZtfud {ks=klaca/khP;k ðkklukP;k /kksj.kkaps VhdkRed ijh{k.k
djk-
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2. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) uk.kscktkj vkf.k HkkaMo« cktkj lq/kkj.kk lfoLrji.ks Li"V djk-

(ii) Hkkjrh; vFkZO;oLFksrh« «?kqm|ksxkaph Hkwfedk foðkn djk- «?kqm|ksxkauk HksMlko.kkÚ;k

leL;k lkaxk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(i) HkkjrkP;k «ksdla[;sph oSfðk"VÓs Li"V djk-

(ii) [kktxhdj.kklh lacaf/kr leL;kaoj Hkk"; djk-

(iii) lkekftd lajpusP;k fodklkps ewY;ekiu djk-

(iv) Hkkjrh; JecktkjkP;k leL;k dk; vkgsr \

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) xzkeh.k&ðkgjh LFk«karj-

(ii) Hkkjrh; œf"kcktkjklanHkkZrh« leL;k-

(iii) Hkkjrkrh« mtkZ leL;k-

(iv) vkS|ksfxdj.kkph ok< o vkœfrca/k-

(v) Hkkjrkrh« nkfjÊÓkps Lo:i-

(vi) mnkjhdj.k-
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-105

M.A. (Part I) (First Semester) EXAMINATION, 2010

ECONOMICS

(EC-105 : Labour Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to-the-point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the nature, scope and importance of labour

economics.

(ii) Critically examine the Marginal Productivity Theory of

Wages.

2. Answer any one of the following questions in 500 words : [20]

(i) State the approaches to labour migration. Explain the effects

of labour migration.

(ii) Explain the growth, structure and achievement of labour union

in India.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the exit policy of labour.

P.T.O.



[3804]-105 2

(ii) What are the causes of low labour turnover in India ?

(iii) State the recommendation of Second National Commission on

labour.

(iv) Explain the rural sector wage determination.

4. Write short notes (any four) : [20]

(i) Tripartism

(ii) Minimum wage

(iii) Peculiarities of labour

(iv) Safety nets

(v) Urban sector wage determination

(vi) Collective bargaining.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) Je vFkZðkkL=kps Lo:i] O;kIrh o egRo Li"V djk-

(ii) osrukP;k lhekar mRikndrk flºkarkps VhdkRed ifj{k.k djk-

2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) JfedkaP;k LFk«karjkps n`"Vhdksu lkaxk- Jfed LFk«karjkps ifj.kke Li"V djk-

(ii) Hkkjrkrh« dkexkj la?kVukapk fodkl] jpuk o dkefxjh Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) dkexkjkaps fuxZeu /kksj.k Li"V djk-

(ii) Hkkjrkrh« Jfed m«k<k« deh vl.;kph dkj.ks dks.krh \

(iii) nqlÚ;k jk"V™h; Je vk;ksxkP;k fðkQkjðkh lkaxk-

(iv) xzkeh.k {ks=krh« osru fufðprh Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.krsgh pkj) % [20]

(i) f=Lrfj; «okn

(ii) fdeku osru

(iii) Jekph oSfðk"VÓs

(iv) lqjf{kr tkˇs

(v) ukxjh {ks=krh« osru fufðprh

(vi) lkeqfgd lkSnkðkDrh-



P.T.O.
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[3804]-106

M.A. (Part I) (First Semester) EXAMINATION, 2010

ECONOMICS

(EC-106 : Cooperation—Theory and Practice)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Discuss the importance and characteristics of Cooperation.

(ii) Explain in detail the provisions of Maharashtra Cooperative

Act, 1960.

2. Answer any one of the following questions in 500 words : [20]

(i) What is Audit System ? Explain in detail the objectives of

Cooperative audit system.

(ii) Critically examine the role played by International Cooperative

Alliance in the development of Cooperative Movement.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the history and growth of Cooperative Movement in

India.
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(ii) Explain the role of ‘Regional Rural Banks’ in Rural Credit.

(iii) Examine the role of Cooperatives in the development of

Japan.

(iv) Explain the features of Cooperative Act, 1904.

4. Write short notes on (any four) : [20]

(i) Principles of Cooperation

(ii) Need of Cooperative Training

(iii) Functions of Cooperative Auditor

(iv) Problems of Cooperative Sugar Industry in Maharashtra

(v) Progress of Urban Cooperative Banks in Maharashtra

(vi) Need of Cooperative Supervision.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) lgdkjkps egRo vkf.k oSfðk"VÓkaph ppkZ djk-

(ii) 1960 P;k egkjk"V™ lgdkjh dk;nÓkrh« rjrqnh lfoLrj Li"V djk-
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2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) «s[kk ijh{k.k iºrh Eg.kts dk; \ lgdkjh «s[kk ijh{k.k iºrhps mÌsðk lfoLrj

Li"V djk-

(ii) lgdkjh pˇoˇhP;k fodklke/kh« vkarjjk"V™h; lgdkjh laLFkkaP;k egkla?kkP;k

Hkwfedsps VhdkRed ijh{k.k djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) Hkkjrkrh« lgdkjh pˇoˇhpk bfrgkl vkf.k o`ºh Li"V djk-

(ii) xzkeh.k iriqjoBÓkrh« ^izknsfðkd xzkeh.k c°dkaph* Hkwfedk Li"V djk-

(iii) tikuP;k fodklke/kh« lgdkjh laLFkkaP;k Hkwfedsps ijh{k.k djk-

(iv) lgdkjh dk;nk] 1904 ph oSfðk"VÓs Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) lgdkjkph rRos

(ii) lgdkjh izfðk{k.kkph xjt

(iii) lgdkjh «s[kk ijh{kdkph dk;sZ

(iv) egkjk"V™krh« lgdkjh lk[kj m|ksxkP;k leL;k

(v) egkjk"V™krh« ukxjh lgdkjh c°dkaph izxrh

(vi) lgdkjh i;Zos{k.kkph vkoð;drk-



P.T.O.
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[3804]-107

M.A. (Part I) (First Semester) EXAMINATION, 2010

ECONOMICS

(EC-107 : Mathematical Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

(v) Use of non-programmable calculator is allowed.

1. Answer the following questions (any one) : [20]

(i) Given the matrix

1 4 2

X 1 2 1

1 3 2

é ù

ê ú
= -
ê ú

ê úë û

,

show that :

X X–1 = I3.
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(ii) Given the demand function of two commodities as :

1 2
1

400
Q 2000 50 P

P 3
= + -

+

2 2
1

500
Q 2000 100P

P 4
= - +

+

(a) Find the nature of commodity.

(b) Calculate the four partial elasticities of demand at

P1 = 5 and P2 = 1.

2. Answer the following questions (any one) : [20]

(i) A firm faces the production function Q = 12 K0.4 L0.4 and

can buy the inputs K and L at prices per unit of Rs. 40

and 5 respectively. If it has a budget of Rs. 800 what combination

of K and L should it use in order to produce the maximum

possible output ?

(ii) A firm operates with the total cost (TC) function,

TC = 50 + 0.4q2

and is a monopoly facing a demand schedule

P = 360 – 2.1 q.

What will happen to the equilibrium values if the following

different forms of tax were imposed on the firm ?
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3. Answer the following questions (any two) : [20]

(i) Evaluate

( 1)n

dx

x x +ò .

(ii) A monopoly firm faces the demand schedule

P = 460 – 2 q

and the cost schedule TC = 20 + 0.5 q2. How much should

it sell to maximise profit and what will maximum profit be ?

(All costs and prices are in Rupees).

(iii) Derive the inverse matrix A–1 when

25 15
A

10 8

é ù
= ê ú
ë û

.

(iv) A profit making company wants to launch a new product. It

observes that the fixed cost of the new product is Rs. 35,000

and the variable cost per unit is Rs. 500. The revenue function

for the sale of ‘x’ units is given by :

5000 x – 100 x2

Find :

(a) Profit function

(b) Break-even values

(c) The values of ‘x’ that results in a loss.
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4. Answer the following questions (any four) : [20]

(i) Evaluate :

4 3 10

|E| 7 0 3

12 2 5

= .

(ii) A firm has to pay fixed costs of Rs. 1500 + 60 Q, how much

can it produce for a budget of Rs. 4,800 ?

(iii) A firm’s manufacturing system requires two processes for each

unit produced process involves a TC function as,

TCA = 650 + 15 Q

and process involves for B, a TC function,

TCB = 220 + 45 Q.

What is the composite total cost function ?

(iv) If

MR = 520 – 3 q0.5,

what is the corresponding TR function ?

(v) How much interest will be earned on Rs. 400 invested for

two years at 0.5% ?

(vi) Evaluate

5

2

(2 )i

i=

å .
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-108

M.A. (Part I) (First Semester) EXAMINATION, 2010

ECONOMICS

(EC-108 : Demography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) State and explain the various components of population growth

and their interdependence.

(ii) State the concept of quality of population and explain the factors

affecting the quality of population.

2. Answer any one of the following questions in 500 words : [20]

(i) Explain the growth of population in developed countries.

(ii) Examine the population trends in recent years in India.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Critically examine the Malthus’ Theory of Population.

(ii) Critically examine the Optimum Theory of Population.
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(iii) State and explain the policy regarding nutrition, education and

training in India.

(iv) State the population explosion in World.

4. Write short notes on (any four) : [20]

(i) Meaning and importance of Demography

(ii) Infant mortality

(iii) Health Policy in India

(iv) Women empowerment

(v) Growth of population in developing countries

(vi) Gender equality ratio.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) «ksdla[;k o`ºhps fofo/k ?kVd lkaxwu R;kaps ijLijko«afcRo Li"V djk-

(ii) «ksdla[;sph xq.koŸkk gh ladYiuk lkaxk vkf.k «ksdla[;sP;k xq.koŸksoj ifj.kke

dj.kkjs ?kVd Li"V djk-
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2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) fodflr nsðkkrh« «ksdla[;k o`ºh Li"V djk-

(ii) Hkkjrkrh« «ksdla[;sP;k vf«dMh« dkˇkrh« izo`Ÿkhps ifj{k.k djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) ekYFklP;k ^«ksdla[;k flºkark*ps VhdkRed ifj{k.k djk-

(ii) «ksdla[;sP;k ^i;kZIr flºkark*ps VhdkRed ifj{k.k djk-

(iii) Hkkjrkrh« «ksdkapk iks"k.k vkgkj] fðk{k.k vkf.k izfðk{k.k /kksj.k lkaxk o Li"V

djk-

(iv) txkrh« «ksdla[;k izLQksV lkaxk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) «ksdla[;k ðkkL=kpk vFkZ vkf.k egRo

(ii) ck«e`R;q

(iii) Hkkjrkrh« vkjksX; /kksj.k

(iv) efg«k lc«hdj.k

(v) fodluðkh« nsðkkrh« «ksdla[;k o`ºh

(vi) f«ax xq.kksŸkj lekurk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-201

M.A. (Part I) (Second Semester) EXAMINATION, 2010

ECONOMICS

(EC-201 : Micro-Economic Analysis–II)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to-the-point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the main features of perfect competition and state

how firm attained short-run equilibrium under perfect

competition.

(2) Critically examine kinked demand curve in oligopoly.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the features of monopolistic competition. How is price

and output determined under monopolistic competition ?

(2) Critically examine Marginal Productivity Theory of

Distribution.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the Cournot’s model of oligopoly.

(2) Explain the dynamic theory of profit.

(3) Explain Williamson’s managerial model of the firm.

(4) State and explain Pigou’s theory of Welfare Economics.

4. Write short notes on (any four) : [20]

(1) Collective bargaining.

(2) Conditions of Pareto optimality

(3) Duopoly

(4) Regulation of monopoly

(5) Price discrimination.

(6) Baumol’s sales revenue maximization

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(1) iw.kZ Li/ksZph Bˇd oSfðk"VÓs Li"V djk o iw.kZ Li/ksZr m|ksxlaLFkk vYidk«hu

lerks« dlk lk/; djrs rs lkaxk-

(2) vYi foÿsrkf/kdkjkrh« ckd~nkj ekx.kh oÿkps VhdkRed ifj{k.k djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) eDrsnkjh;qDr Li/ksZph oSfðk"VÓ lkaxk- eDrsnkjh;qDr Li/ksZr fdaer o mRiknu

fufðprh dðkh gksrs \

(2) foHkktukP;k lhekar mRikndrk flºkarkps VhdkRed ifj{k.k djk-

3. [kk«h«iSdh izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ^dqukZV*ps vYifoÿsrkf/kdkjkps izfreku Li"V djk-

(2) u∂;kpk xfreku flºkar Li"V djk-

(3) fo«;el~ups O;olk;laLFksps O;oLFkkidh; izfreku Li"V djk-

(4) fixqpk dY;k.kdkjh vFkZðkkL=kpk flºkar lkaxk o Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.krsgh pkj) % [20]

(1) lkeqfgd lkSnkðkDrh

(2) iWjsVksP;k i;kZIrrsP;k vVh

(3) f}foÿsrkf/kdkj

(4) eDrsnkjhps fu;a=.k

(5) eqY;Hksn

(6) ck≈eks«ps foÿh&izkIrh egŸkehdj.k izfreku-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-202

M.A. (Part I) (Second Semester) EXAMINATION, 2010

ECONOMICS

(EC-202 : Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to-the-point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the economic classification of budget.

(2) Explain the trends in expenditure of State Government since

1991.

2. Answer any one of the following questions in 500 words : [20]

(1) What is fiscal policy ? Explain in detail the objectives of India’s

fiscal policy.

(2) Explain the interdependence of monetary and fiscal policies

in India.

3. Answer the following questions in 250 words each (any two) : [20]

(1) “Burden of public debt on Indian economy is increasing.” Comment.

(2) Critically examine the recommendations of Twelfth Finance

Commission.

P.T.O.
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(3) State and explain the principles of federal finance in

India.

(4) Explain the provisions of transfer of resources from union to

states.

4. Write short notes on (any four) : [20]

(1) Presentation of budget

(2) Reforms in direct taxes

(3) Automatic stabilizers

(4) Indicators of Indian fiscal imbalance

(5) Deficit financing

(6) Centre-State conflicts on finance.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslqn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk c?kkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) vankti=dkps vkfFkZd oxhZdj.k Li"V djk-

(2) 1991uarjP;k dkˇkrh« jkT; ljdkjP;k [kpkZrh« izo`Ÿkh Li"V djk-
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2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) jkT;foŸkh; /kksj.k Eg.kts dk; \ HkkjrkP;k jkT;foŸkh; /kksj.kkph mfÌ"VÓs foLr`ri.ks

Li"V djk-

(2) Hkkjrkrh« p«ufo"k;d o jkT;foŸkh; /kksj.k ;kaps ijLijko«acu Li"V

djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ^^Hkkjrh; vFkZO;oLFksojh« lkoZtfud dtkZpk Hkkj ok<r vkgs-** ppkZ djk-

(2) ckjkO;k foŸk vk;ksxkP;k fðkQkjðkhaps fVdkRed ifj{k.k djk-

(3) Hkkjrkrh« la?kjkT; foŸkiz.kk«hph rRos lkaxk o Li"V djk-

(4) dsaÊkdMwu jkT;kadMs gLrkarfjr gks.kkÚ;k lk/kukaP;k rjrwnh fo"k;h ppkZ djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) vankti=dkps lknjhdj.k

(2) izR;{k djkrh« lq/kkj.kk

(3) Lo;ap«hr fLFkjds

(4) Hkkjrh; foŸkh; vlerks«ps funsZðkd

(5) rqVhpk vFkZHkj.kk

(6) dsaÊ&jkT; foŸkh; la?k"kZ-
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-203

M.A. (Part I) (Second Semester) EXAMINATION, 2010

ECONOMICS

(EC-203 : Indian Agricultural Problems and Policies)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Review the recent Indian Agricultural Labour Policy.

(ii) Discuss the EXIM policy of 2004 to 2009.

2. Answer any one of the following questions in 500 words : [20]

(i) Discuss the problems of agricultural labour in India.

(ii) Explain the agricultural problems in Maharashtra State.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain recent SEZ policy in India.

(ii) Explain the causes of low efficiency of agricultural labour in

India.
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(iii) Explain the problems of agricultural exports in India.

(iv) Explain the impact of mechanization on agricultural labour in

India.

4. Write short notes on (any four) : [20]

(i) Employment Guarantee Scheme

(ii) W.T.O. and Indian agriculture

(iii) Efficiency of service sector in relation to agriculture

(iv) Agricultural policy of Maharashtra

(v) Recent changes in fruits export policy

(vi) Agricultural subsidies.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) vf«dMh« Hkkjrh; ðksretwj /kksj.kkpk vk<kok ?;k-

(ii) fu;kZr&vk;kr /kksj.k 2004&2009 ph ppkZ djk-
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2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« ðksretwjkaP;k leL;kaph ppkZ djk-

(ii) egkjk"V™ jkT;krh« ðksrhfo"k;d leL;k Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) Hkkjrkrh« vf«dMh« foðks"k vkfFkZd {ks= (SEZ) /kksj.k Li"V djk-

(ii) Hkkjrkrh« ðksretwjkaP;k vYi dk;Z{kersph dkj.ks Li"V djk-

(iii) Hkkjrkrh« œf"k fu;kZrhP;k leL;k Li"V djk-

(iv) ;kaf=dhdj.kkps Hkkjrkrh« ðksretwjkaojh« ijh.kke Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) jkstxkj geh ;kstuk

(ii) tkxfrd O;kikj la?kVuk vkf.k Hkkjrh; ðksrh

(iii) ðksrhP;k lanHkkZrh« lsok {ks=kph dk;Z{kerk

(iv) egkjk"V™kps œf"k /kksj.k

(v) Qˇs fu;kZr /kksj.kkrh« vf«dMh« cn«

(vi) ðksrhfo"k;d vuqnkus-
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-204

M.A. (Part I) (Second Semester) EXAMINATION, 2010

ECONOMICS

(EC-204 : Industrial Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the role of public sector in Indian economy. What are

its problems ?

(ii) Give a brief account of industrial imbalance in India. What

are its causes ?

2. Answer any one of the following questions in 500 words : [20]

(i) Discuss in detail the factors affecting industrial productivity.

(ii) Discuss the need of foreign capital in Indian economy. Comment

on government’s policy towards foreign capital since 1991.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the broad features of Industrial Policy of 1956.

(ii) Evaluate the advantages of MNCs in Indian economy.
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(iii) Explain ‘Sargent Florence’ theory of Industrial Location.

(iv) Explain the problems of external commercial borrowings.

4. Write short notes on (any four) : [20]

(i) Scope of Industrial Economics

(ii) Type of Industrial Combination

(iii) Tools of productivity

(iv) Role of public Sector Banks in Industrial Finance

(v) Broad features of Industrial Policy 1991

(vi) Agglomeration and deglomeration.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaiSdh ,dkps mŸkj 500 ðkCnkar f«gk % [20]

(i) Hkkjrh; vFkZO;oLFksrh« lkoZtfud {ks=kph Hkwfedk Li"V djk- R;kP;k leL;k

dks.kR;k vkgsr \

(ii) Hkkjrkrh« vkSnÓksfxd vlerks«kpk FkksMD;kr vk<kok |k- R;kph dkj.ks dks.krh

vkgsr \
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2. [kk«h« izðukaiSdh ,dkps mŸkj 500 ðkCnkar f«gk % [20]

(i) vkSnÓksfxd mRikndrsoj ifj.kke dj.kkÚ;k ?kVdkaph lfoLrj ppkZ djk-

(ii) Hkkjrh; vFkZO;oLFkse/kh« ijdh; HkkaMo«kP;k xjtsph ppkZ djk- 1991 iklwu

ijdh; HkkaMo«k laca/kh ljdkjP;k /kksj.kkoj Hkk"; djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) 1956 P;k vkSnÓksfxd /kksj.kkph Bˇd oSfðk"VÓs Li"V djk-

(ii) Hkkjrh; vFkZO;oLFksrh« cgwjk"V™h; daiU;kaP;k Qk;nÓkaps ijh{k.k djk-

(iii) ^lkt±V ∂«kWjsUl* ;kapk vkSnÓksfxd LFkkfu;hdj.kkpk flºkar Li"V djk-

(iv) ijdh; O;kikjh dtZ mHkkj.khP;k leL;k Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) vkSnÓksfxd vFkZðkkL=kph O;kIrh

(ii) vkSnÓksfxd la;qDrhdj.kkps izdkj

(iii) mRikndrk ok<hph lk/kus

(iv) vkSnÓksfxd foŸk iwjoBÓkrh« lkoZtfud {ks=krh« c°dkaph Hkwfedk

(v) 1991 P;k vkSnÓksfxd /kksj.kkph Bˇd oSfðk"VÓs

(vi) mnÓksxlaLFkkaph dsafÊdj.k o fodsafÊdj.kkph izo`Ÿkh-
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-205

M.A. (Part I) (Second Semester) EXAMINATION, 2010

ECONOMICS

(EC-205 : Rural Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) What is Rural Development ? Explain V.M. Dandekar’s approach

of rural development. What are its drawbacks ?

(ii) Explain the nature and scope of rural indebtedness in India.

Evaluate the role of self help group in eliminating rural

indebtedness in India.

2. Answer any one of the following questions in 500 words : [20]

(i) Discuss the role of irrigation, rural electrification and rural

transport in rural development.

(ii) Assess the role of Employment Guarantee Scheme and Training

Rural Youth for Self-Employment in rural development.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the scope and importance of rural development.

(ii) Comment on achievements of Green Revolution in India.
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(iii) Examine the role of rural industrialisation in eliminating rural

unemployment in India.

(iv) Give a brief outline of Tribal Development Programme in India.

4. Write short notes on (any four) : [20]

(i) Structure of Rural Economy in India

(ii) Agricultural growth in India since 1991

(iii) Agrarian Reforms and Rural Development

(iv) Causes of Rural Unemployment in India

(v) Marginal Farmers Development Agency (MFDA)

(vi) National Rural Employment Guarantee Programme.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaiSdh ,dkps mŸkj 500 ðkCnkar f«gk % [20]

(i) xzkeh.k fodkl Eg.kts dk; \ fo- e- nkaMsdj ;kapk xzkeh.k fodklkpk n`"Vhdksu

Li"V djk ;k n`"Vhdksukps nks"k dks.krs vkgsr \

(ii) Hkkjrkrh« xzkeh.k dtZcktkjhi.kkps Lo:i o O;kIrh Li"V djk- Hkkjrkrh« xzkeh.k

dtZ cktkjhi.kk deh dj.;krh« Lo;algk∏;rk xVkaP;k Hkwfedsps ijh{k.k djk-
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2. [kk«h« izðukaiSdh ,dkps mŸkj 500 ðkCnkar f«gk % [20]

(i) t«flapu] xzkeh.k fo|wrhdj.k vkf.k xzkeh.k okgrwd O;oLFkk ;kaP;k xzkeh.k

fodklkrh« Hkwfedsph ppkZ djk-

(ii) jkstxkj geh ;kstuk (EGS) vkf.k V™k;lse (TRYSEM) ;kaP;k xzkeh.k fodklkrh«

Hkwfedsps ewY;ekiu djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) xzkeh.k fodklkph O;kIrh vkf.k egRo Li"V djk-

(ii) Hkkjrkrh« gfjr ÿkarhP;k Q«hrkaoj Hkk"; djk-

(iii) Hkkjrkrh« xzkeh.k csdkjh deh dj.;krh« xzkeh.k vkSnÓksfxdj.kkP;k Hkwfedsps

ijh{k.k djk-

(iv) Hkkjrkrh« vkfnoklh fodkl ;kstukapk FkksMD;kr vk<kok |k-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) Hkkjrkrh« xzkeh.k vFkZO;oLFksph jpuk

(ii) 1991 iklwuph Hkkjrkrh« ðksrh{ks=kph o`ºh

(iii) ðksrh lw/kkj.kk vkf.k xzkeh.k fodkl

(iv) Hkkjrkrh« xzkeh.k csjkstxkjhph dkj.ks

(v) lhekar ðksrdjh fodkl laLFkk (MFDA)

(vi) jk"V™h; xzkeh.k jkstxkj geh ;kstuk-



Total No. of Questions—4] [Total No. of Printed Pages—2

[3804]-206

M.A. (Part I) (Second Semester) EXAMINATION, 2010

ECONOMICS

(EC-206 : Computer Application in Economic Analysis)

(2008 PATTERN)

Time : 2½ Hours Maximum Marks : 60

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to-the-point.

1. Attempt any one of the following : [15]

(1) What is internet ? How can you use internet for online shopping ?

Explain the advantages and disadvantages of online shopping.

(2) What is electronic trading ? Explain different steps of trade

cycle.

2. Attempt any one of the following (A or B) :

(A) (1) Explain B2B model with suitable example. [8]

(2) Explain the uses of Internet. [7]

Or

(B) (1) What is network ? Explain the application of network. [8]

(2) What is operating system ? Explain the features provided

by windows XP. [7]

P.T.O.



[3804]-206 2

3. Attempt any three of the following : [15]

(1) What is the difference among hardware, software and firmware ?

(2) Explain any two network topologies.

(3) Explain with suitable example the following MS-Excel function :

(i) sum

(ii) if

(4) What is printer, plotters and scanner ?

(5) Explain how digital signature provides security.

4. Attempt any three of the following : [15]

(1) Explain different types of menu in Windows XP.

(2) List the different techniques used for authentication.

(3) What are the applications of B2C model ?

(4) Define :

(i) Cell

(ii) Formula cell

(iii) Range of cell

(iv) Address of cell

(v) Formatting of cell in MS-Excel.

(5) Explain the advantages of CD ROM over hard disk and floppy

disk.



Total No. of Questions—4] [Total No. of Printed Pages—4+1

[3804]-207

M.A. (Part I) (Second Semester) EXAMINATION, 2010

ECONOMICS

(EC-207 : Statistical Techniques)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Attempt any one out of two : [20]

(1) Construct a frequency table for the following data regarding

annual profits (Rs. in lakhs) in 50 firms, taking 25–34,

35–44 etc as class intervals. Construct a less than ogive and

find :

(i) Number of firms having profit between 37 lakhs and

Rs. 58 lakhs.

(ii) Profit above which 10% of the firms will have there profits.

(iii) Middle 50% profit group :

28 35 61 29 36 48 57 67 69 50

48 40 47 42 41 37 51 62 63 33

31 32 35 40 38 37 60 51 54 56

37 46 42 38 61 59 58 44 39 57

38 44 45 45 47 38 44 47 47 64

P.T.O.
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(2) Find the proportion of items lying within :

(i) Mean ± s  and

(ii) Mean 

± s

of the following distribution :

Class Frequency

11—12 05

13—14 426

15—16 720

17—18 741

19—20 665

21—22 395

23—24 38

25—26 08

27—28 05

29—30 07

2. Attempt any one out of the two : [20]

(1) The mean and variance of a binomial distribution are 3 and

2 respectively. Find the probability that the variate takes

values :

(i) Less than or equal to two

(ii) Greater than or equal to 7.
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(2) Compute the quadratic trend of the form :

2y a bx cx= + +

for the data showing the production of an item over a seven

year period :

Year Production (in 1000 tons)

1985 10

1986 11

1987 12

1988 09

1989 10

1990 13

1991 11

3. Attempt any two of the following four : [20]

(1) Calculate the coefficient of correlation for the ages of husbands

and wives :

Ages of Husbands Ages of Wives

23 18

27 22

28 23

29 24

30 25

31 26

33 28

35 29

36 30

39 32
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(2) The research unit in an organisation wishes to determine whether

scores on the scholastic aptitude test are different for male

and female applicants. Random samples of applicants file are

taken and summarized as below :

Applicants

Female Male

X  = 502.1  X = 510.5

S.D. = 86.2 S.D. = 90.4

  n = 399   n = 204

Using the above sample data test the null hypothesis that

the average score is the same for population of male and

female applicants. Use 5% significance level and assume that

the scores are normally distributed in each case.

(3) In a city, 325 men out of 600 men were found to be smokers.

Does this information supports the conclusion that the

majority of men in this city are smokers ? (State the hypothesis

clearly and test it at 5% and 1% level of significance)

Comment.

(4) The mean life of a sample of 10 electric bulbs was found

to be 1456 hours with a standard deviation of 423 hours. A

second sample of 17 bulbs chosen from a different batch showed

a mean life of 1280 hours with standard deviation 398 hours.

Is there a significant difference between mean lives of the

two batches of bulbs ?
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4. Attempt any four out of the six : [20]

(1) Discuss the large sample test for testing the equality of two

population means.

(2) Explain the difference between statistic and parameter as used

in sampling survey.

(3) Cost of living index numbers is essentially a consumer price

index. Discuss.

(4) Write merits and demerits of arithmetic mean.

(5) What is meant by time series analysis ? Discuss its importance

in business.

(6) In a single throw with two unbiased dice find the probability

of throwing :

(i) Five

(ii) Eight.



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-208

M.A. (Part I) (Second Semester) EXAMINATION, 2010

ECONOMICS

(EC-208 : Community Development and Planning)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Elaborate the Schumpeterian theory of underdevelopment.

(2) State and explain the interdependence of Social Development

and Environment.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Explain in detail the India’s population policy.

(2) What is Social Planning ? Explain the need of social planning.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the Marxian theory of social development.

(2) Explain the foundations of social theory.

P.T.O.
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(3) Discuss the international population policy.

(4) Explain the concept of social development in terms of

redistribution of income and basic human needs.

4. Write short notes on (any four) : [20]

(1) Social Capital

(2) Social Invesment and Economic Growth

(3) Planning and Aid

(4) Social Planning

(5) Collective Behaviour Theory

(6) Guided Development.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vko';d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n'kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1. [kk«h« iz'ukaph izR;sdh 500 'kCnkar mŸkjs f«gk (dks.kR;kgh ,d) % [20]

(1) 'kqEihVj ;kapk vYifodklkpk flºkar fo'kn djk-

(2) lkekftd fodkl vkf.k i;kZoj.k ;kaP;krh« ijLijko«afcRo lkaxk o Li"V djk-

2. [kk«h« iz'ukaph izR;sdh 500 'kCnkar mŸkjs f«gk (dks.kR;kgh ,d) % [20]

(1) Hkkjrkps «ksdla[;kfo"k;d /kksj.k lfoLrj Li"V djk-

(2) lkekftd fu;kstu Eg.kts dk; \ lkekftd fu;kstukph xjt Li"V djk-
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3. [kk«h« iz'ukaph izR;sdh 250 'kCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) ekDlZpk lkekftd fodklkpk flºkar Li"V djk-

(2) lkekftd flºkarkps vk/kkj fo'kn djk-

(3) vkarjjk"V™h; «ksdla[;kfo"k;d /kksj.kkph ppkZ djk-

(4) mRiUukps iquokZVi vkf.k eqˇHkwr ekuoh xjtk ;k lanHkkZr lkekftd fodkl ladYiuk
Li"V djk-

4. fVik f«gk (dks.kR;kgh pkj) % [20]

(1) lkekftd HkkaMo«

(2) lkekftd xqaro.kwd vkf.k vkfFkZd o`ºh

(3) fu;kstu vkf.k enr

(4) lkekftd fu;kstu

(5) lkewfgd orZukpk flºkar

(6) funsZ'khr fodkl-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

(EC-301 : Macro Economic Analysis–I)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) What is circular flow of income ? Explain with diagrams various

withdrawals and injections in the circular flow of income.

(2) What is marginal efficiency of capital ? Explain short-run and

long-run factors affecting marginal efficiency of capital.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain critically the Permanent Income Hypothesis in consump-

tion.

(2) What is meant by supply of money ? Explain fully the components

of supply of money.

3. Answer any two of the following questions in 250 words each : [20]

(1) Explain various concepts of National Income.

(2) Explain the types of consumption function.

P.T.O.
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(3) Explain the working of accelerator.

(4) Explain the determinants of High Powered Money.

4. Write short notes on (any four) : [20]

(1) Friedman’s theory of demand for money

(2) R.B.I.’s approach of money supply

(3) Relative Income Hypothesis

(4) Circular flow of income in two sector economy

(5) Money multiplier

(6) Implications of Keynes’ consumption.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkoh-

(iv) vkoð;d rsFks lqcd vkœrh dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) mRiUukpk pÿkdkj izokg Eg.kts dk; \ mRiUukP;k pÿkdkj izokgkrh«

fofo/k izdkjph xˇrh vkf.k Hkj vkœrhP;k lkgÓkus Li"V djk-

(2) HkkaMo«kph flekar dk;Z{kerk Eg.kts dk; \ HkkaMo«kP;k flekar dk;Z{kersoj

ifj.kke dj.kkjs vYidk«hu vkf.k fn?kZdk«hu ?kVd Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) miHkksxkrh« LFkk;h mRiUu x`fgrdkps Li"Vhdj.k |k-

(2) iSðkkpk iqjoBk Eg.kts dk; \ iSðkkP;k iqjoBÓkps ?kVd lfoLrj Li"V djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaps mŸkj izR;sdh 250 ðkCnkar f«gk %  [20]

(1) jk"V™h; mRiUukpk fofo/k ladYiuk Li"V djk-

(2) miHkksx Q«ukps izdkj Li"V djk-

(3) izosxkph dk;Ziºrh Li"V djk-

(4) mPp ðkDrh iSðkkps fu/kkZjd Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) f›Meupk iSðkkP;k ekx.khpk flºkar

(2) iSðkkP;k iqjoBÓkfo"k;hpk Hkkjrh; fj>oZ c°dspk n`"Vhdksu

(3) lkis{k mRiUu ifjdYiuk (x`fgrd)

(4) f}&{ksf=; vFkZO;oLFksrh« mRiUukpk pÿkdkj izokg

(5) iSlk xq.kd

(6) dsUlP;k miHkksx Q«ukps vUo;kFkZ-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-302

M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

(EC-302 : Economics of Growth)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) What is economic growth ? Explain the factors affecting on

economic growth.

(2) Critically evaluate the Malthusian theory of economic growth.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically evaluate the Kaldor’s model of Distribution.

(2) Examine growth model of the golden rule of accumulation.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Evaluate the contribution of Schumpeter in the development of

capitalist economy.

(2) Explain the theory of social change.

P.T.O.
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(3) Evaluate Mrs. Joan Robinson’s growth model.

(4) Explain the role of money in economic growth.

4. Write short notes in 100 words each (any four) : [20]

(1) Impact of market imperfection on economic growth

(2) Technology and economic growth

(3) Embodied technical progress

(4) Capital controversy

(5) Patinkin model on endogeneous growth

(6) Intellectual capital.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) vkfFkZd o`ºh Eg.kts dk; \ vkfFkZd o`ºhoj ifj.kke dj.kkjs ?kVd Li"V
djk-

(2) ekYFkl ;kaP;k vkfFkZd o`ºhP;k flºkarkps VhdkRed eqY;ekiu djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) dWYMkj ;kaP;k foHkktukP;k izfrekukps fVdkRed eqY;ekiu djk-

(2) lap;kP;k lqo.kZ;qxkP;k o`ºh izfrekukps ijh{k.k djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) %  [20]

(1) HkkaMo«ðkkgh vFkZO;oLFksP;k fodklkrh« ðkqEihVj ;kaP;k ;ksxnkukps eqY;ekiu
djk-

(2) lkekftd cn«kpk flºkar Li"V djk-

(3) Jherh tksu~ jkWfcUlu ;kaP;k o`ºh izfrekukps eqY;ekiu djk-

(4) vkfFkZd o`ºhrh« iSðkkph Hkqfedk Li"V djk-

4. [kk«h« Vhik izR;sdh 100 ðkCnkar f«gk (dks.kR;kgh pkj) % [20]

(1) cktkjkrh« viw.kZrspk vkfFkZd o`ºhojh« ifj.kke

(2) ra=Kku vkf.k vkfFkZd o`ºh

(3) ra=Kku;qDr izxrh

(4) HkkaMo« fojks/kkHkkl

(5) iWVfUdu ;kaps ,rÌsfðk; o`ºhps izfreku

(6) ckSfºd HkkaMo«-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

(EC-303(A) : Research Methodology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Define Research. Explain the nature and utility of research

in social science.

(ii) What is sampling ? Explain the techniques of Sampling.

2. Answer any one of the following questions in 500 words : [20]

(i) Describe fully the stages in report writing.

(ii) Explain the significance and stages of Research design.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the various stages of testing Hypothesis.

(ii) What are the measures of Central Tendencies ?
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(iii) Explain the process of Interview.

(iv) Explain the importance of graph and diagrams.

4. Write short notes on 100 words each (any four) : [20]

(i) Size of sample

(ii) Dispersion

(iii) Historical method in research

(iv) Characteristics of a good questionnaire

(v) Use of computer in data processing

(vi) Advantages of case study method.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) laðkks/kukph O;k[;k |k- lkekthd ðkkL=krh« laðkks/kukps Lo:i o mi;qDrrk

Li"V djk-

(ii) uequk fuoM Eg.kts dk; \ uequk fuoM iºrhph ra=s Li"V djk-
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2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) laðkks/ku vgok« f«[kk.kkP;k fofo/k VII;kaps lfoLrji.ks o.kZu djk-

(ii) laðkks/ku vkjk[kMÓkps egRo o VIis Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) x`ghrœR; ifj{k.kkP;k fofo/k ik;kÚ;k Li"V djk-

(ii) dsafÊ; izo`Ÿkhph ekstekids dks.krh \

(iii) eq«k[krhph izfÿ;k Li"V djk-

(iv) vk«s[k o vkœR;kaps egRo Li"V djk-

4. [kk«h« Vhik izR;sdh 100 ðkCnkr f«gk (dks.krsgh pkj) % [20]

(i) ueqU;kpk vkdkj

(ii) fop«u

(iii) laðkks/kukrh« ,sfrgklhd iºr

(iv) mRœ"V izðuko«hph oSfðk"VÓs

(v) rF; izfÿ;klkBh lax.kdkpk mi;ksx

(vi) fofðk"VkH;kl iºrhps Qk;ns-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

[3804]-304

M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

EC-303(B) : Econometrics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of calculator is allowed.

1. Answer any one of the following questions : [20]

(i) The following data were collected from five different plants

in a certain industry :

Production (x) Total Cost (y)

12 80

4 44

6 51

11 70

8 61
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(a) Estimate the linear total cost function Xy = a + b  for

the industry.

(b) What is the economic significance of the estimates of

a and b ?

(c) Test the significance of b at 5% level of significance, given

that t(3,0.05) = 3.182.

(d) Also construct 95% confidence interval for b.

(ii) Consider the following model of demand and supply :

1 1 1Q P Yd a b c= + +

2 2 2Q P Zs a b c= + +

and Qd = Qs

where Qd = Quantity demanded; Qs = Quantity supplied

    P = price         Y = disposable income

    Z = cost of major raw material

Y and Z are exogenous variables.

Determine the reduced form of these equations.

2. Answer any one of the following questions : [20]

(i) For the following aggregate model for the economy :

1 2 1C D Ut t t= a + a +

1 2 3 1 2I Y Y Ut t t t-= b +b + b +

Y D Tt t t= +

Y C I Gt t t t= + +
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The variables Ct, Dt, It, Yt are endogenous and Tt and Gt

are exogenous. Comment on the identifiability of the first two

structural equations giving reasons.

(ii) What are dummy variables ? How can they be incorporated

in a regression model ? Also discuss the study of interaction

effect using dummy variables.

3. Answer any two of the following questions : [20]

(i) State and explain features of the logit model.

(ii) Write a detailed note on ‘Heteroscedasticity’.

(iii) Discuss different approaches to economic forecasting.

(iv) Explain what is identification of an equation. Explain Rank

and Order conditions of identification of an equation in

simultaneous equations model.

4. Answer any four of the following questions : [20]

(i) State the principle of least squares. How is it used to fit

the equation of the form :

Y = a + b . X

(ii) Explain hypothesis testing in multiple regression.
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(iii) State clearly the assumptions of classical linear regression

model.

(iv) What is multicollinearity ? What are the sources of

multicollinearity ?

(v) What is an integrated stochastic process ? State properties

of integrated time series ?

(vi) In a data of quarterly sale of washing machines how many

dummy variables are required to be incorporated in the model.

How would you interprete their coefficients ?



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-305
M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

(Optional Paper)

(EC-304 : Banking and Financial Institutions)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the structutre and functions of the Financial System

in India

(ii) Explain the structure and working of Co-operative Banks in

India.

2. Answer any one of the following questions in 500 words : [20]

(i) Evaluate the functions and role of the Industrial Credit and

Investment Corporation of India (ICICI).

(ii) Review critically the functions and working of International

Monetary Fund (I.M.F.).

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the evolution of State Bank of India.

(ii) Explain the objectives of the Monetary Policy.
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(iii) State the types of Mutual Funds.

(iv) Evaluate the role of Euro-currency markets at the international

level.

4. Write short notes on (any four) : [20]

(i) Functions of Reserve Bank of India

(ii) Functions of the Small Industries Development Bank of India

(SIDBI)

(iii) Foreign Direct Investment (F.D.I.)

(iv) Indicators of Financial Development

(v) Need and objectives of Banking Sector Reforms

(vi) Significance and nature of Non-Banking Financial Institutes

(NBFI).

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. dks.kR;kgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) Hkkjrh; foŸkh; iz.kk«hph jpuk o dkefxjh Li"V djk-

(ii) Hkkjrkrh« lgdkjh c°dkph jpuk vkf.k dk;sZ Li"V djk-
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2. dks.kR;kgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) Hkkjrh; vkS|ksfxd ir vkf.k xqaro.kwd egkeaMˇkps (ICICI) dk;kZps o Hkwfedsps

eqY;ekiu djk-

(ii) vkarjjk"V™h; uk.ksfu/khph (IMF) dk;sZ o dkefxjhps lek«kspu djk-

3. dks.kR;kgh nksu izðukaps mŸkj izR;sdh 250 ðkCnkr f«gk % [20]

(i) Hkkjrh; LVsV c°dsph mRÿkUrh Li"V djk-

(ii) p«ufo"k;d /kksj.kkph mfÌ"VÓs Li"V djk-

(iii) ijLij fu/khps izdkj lkaxk-

(iv) ;qjks p«u cktkjkph vkarjjk"V™h; ikr«hojh« fodklkrh« Hkwfedsps eqY;ekiu

djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) Hkkjrh; fj>OgZ c°dsph dk;sZ

(ii) Hkkjrh; «?kq m|ksx fodkl c°dsph dk;sZ

(iii) fonsðkh izR;{k xqaro.kwd (F.D.I.)

(iv) foŸkh; fodklkps funsZðkd

(v) c°d {ks=krh« lq/kkj.kkaph vkoð;drk o mfÌ"Vs

(vi) c°dsrj foŸkh; laLFksps egRo o Lo:i-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-306

M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

(EC-305 : Welfare Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is utility function ? Explain issues in inter-personal

comparisons of utility.

(2) What is consumer surplus ? Explain fully Marshallian measure-

ment of consumer surplus.

2. Answer any one of the following questions in 500 words : [20]

(1) What is Pareto optimality ? Explain briefly the conditions of

Pareto optimality.

(2) Explain in detail Samuelson’s utility posibility curve.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the cost benefit analysis.

(2) Explain the problems of public goods.

P.T.O.
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(3) What are the external economies and diseconomies of produc-

tion ?

(4) Explain dynamic welfare analysis.

4. Write short notes in 100 words each (any four) : [20]

(1) Issues in income distribution

(2) Pigovian welfare economics

(3) Arrow’s impossibility theorem

(4) Top level optimum

(5) Marginal cost pricing

(6) Hick’s concept of consumer surplus.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n'kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh eqˇ baxzth iz'uif=dk igkoh-

1. dks.krkgh ,d iz'ukps 500 'kCnkr mŸkj f«gk % [20]

(1) mi;ksfxrk Q«u Eg.kts dk; \ mi;ksfxrsP;k varO;ZDrh rq«usrh« leL;k Li"V
djk-

(2) miHkksDR;kps larks"kkf/kD; Eg.kts dk; \ miHkksDR;kP;k larks"kkf/kD;kps ek'kZ« ;kaps
eksteki lfoLrj Li"V djk-
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2. dks.krkgh ,d iz'ukps 500 'kCnkr mŸkj f«gk % [20]

(1) ijsVksph b"Vrerk Eg.kts dk; \ ijsVksP;k b"VrersP;k vVh FkksMD;kr Li"V
djk-

(2) lWE;qv«lupk mi;ksfxrk 'kD;rk oÿ lfoLrj Li"V djk-

3. [kk«h« iz'ukaph izR;sdh 250 'kCnkar mŸkjs f«gk (dks.kR;kgh nksu) %  [20]

(1) [kpZ «kHk fo'«s"k.k Li"V djk-

(2) lkoZtfud oLrwP;k leL;k fo'kn djk-

(3) mRiknukP;k ckgÓ cprh o cscprh dks.kR;k \

(4) xrh'kh« dY;k.kkps fo'«s"k.k fo'kn djk-

4. izR;sdkoj 100 'kCnkr FkksMD;kr Vhik f«gk (dks.krsgh pkj) % [20]

(1) mRiUu foHkktukrh« leL;k

(2) fixwps dY;k.kdkjh vFkZ'kkL=

(3) vWjksps v'kD;rk izes;

(4) mPpre b"Vrerk

(5) lhekar [kpZ fdaer fuf'prh

(6) fgDlph miHkksDR;kP;k larks"kkf/kD;kaph ladYiuk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-307

M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

(EC-306 : Economics of Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Has SEBI gained a control on the capital market ? Comment.

(2) State and explain the mechanics of future market.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Classify the securities and explain its general characteristics.

(2) Explain in detail the components and working of the stock

market.

3. Answer the following questions in detail with 250 words each (any

two) : [20]

(1) Explain the mechanics of commodity future.

(2) State and explain the financial sector participants.

P.T.O.
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(3) Explain various stock indices.

(4) Explain the uses of financial rations and its limitations.

4. Write short notes on (any four) : [20]

(1) Arbitrage

(2) Types of derivatives

(3) Option market

(4) Forms of efficient market hypothesis

(5) Hedgers

(6) Concept of cash flows.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) HkkaMo« cktkjkoj fu;a=.k Bso.;kl ^lsch* ;ðkLoh >k«h vkgs \ Hkk";
djk-

(2) Hkfo"; cktkjkph (Future market) ;a=.kk lkaxk o Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.kR;kgh ,d) % [20]

(1) izfrHkwrhps oxhZdj.k djk vkf.k izfrHkwrhph loZlk/kkj.k oSfðk"VÓs Li"V djk-

(2) ðksvj cktkjkrh« ?kVd vkf.k R;kps dk;Z lfoLrj Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) oLrw cktkj ;a=.kk lfoLrj Li"V djk-

(2) foŸkh; {ks=krh« lgHkkxh lkaxk o Li"V djk-

(3) fofo/k ðksvj funsZðkkad Li"V djk-

(4) fofŸk; izek.k (Financial rations) ps mi;ksx o e;kZnk Li"V djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) eqY;karji.ku

(2) vuqtkrkps izdkj

(3) fodYi cktkj

(4) dk;Z{ke cktkj x`ghrdkps izdkj

(5) cpkodrsZ

(6) jks[k izokg ladYiuk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-308

M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

(EC-307 : Economics of Environment)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw a neat diagram wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) State the concept of environment. Explain the effects of

environment on human lives.

(2) Explain fully the new model of pollution control.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the concept of sustainable development. Explain how

exhaustible resources are obstacles in sustainable development.

(2) What is pollution ? Explain the instruments used for controlling

water and air pollution in India.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Discuss various types of renewable resources.

P.T.O.
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(2) Macro-economic policies for environment protection.

(3) Explain the benefits of social forestry.

(4) Distinguish between human capital and physical capital.

4. Write short notes in 100 words each (any four) : [20]

(1) Types of environment

(2) Externalities of environment

(3) Mechanism for environment regulation

(4) Market policies and environmental degradation

(5) Causes of air pollution

(6) Education and water pollution control.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok

(ii) mtohdMh« vad iw.kZ xq.k n'kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vko';d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d iz'ukps mŸkj 500 'kCnkar f«gk % [20]

(1) i;kZoj.kkph ladYiuk lkaxk- i;kZoj.kkps ekuoh thoukoj gks.kkjs ifj.kke Li"V
djk-

(2) iznq"k.k fu;a=.kkps uohu izfreku lfoLrj Li"V djk-
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2. [kk«h«iSdh dks.krkgh ,d iz'ukps mŸkj 500 'kCnkar f«gk % [20]

(1) 'kk'or fodklkph ladYiuk Li"V djk- 'kk'or fodklkr uk'koar lalk/kus d'kkizdkjs
vMFkˇs vkgsr \ Li"V djk-

(2) iznq"k.k Eg.kts dk; \ Hkkjrkr gok vkf.k t« iznw"k.k fu;a=.kklkBh okij.;kr
;s.kkjs lk/kukaps Li"Vhdj.k djk-

3. [kk«h« iz'ukaph mŸkjs izR;sdh 250 'kCnkar f«gk (dks.krsgh nksu) %  [20]

(1) iqu#Tthou lalk/kukP;k fofo/k izdkjkaph ppkZ djk-

(2) i;kZoj.k laj{k.kklkBh lexz vkfFkZd /kksj.ks-

(3) lkekftd oukps «kHk Li"V djk-

(4) ekuoh HkkaMo« o oLrq:i HkkaMo«krh« Hksn-

4. FkksMD;kr 100 'kCnkr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) i;kZoj.kkps izdkj

(2) i;kZoj.kkph ckgÓrk

(3) i;kZoj.k fu;euklkBh ;a=.kk

(4) cktkj /kksj.ks vkf.k i;kZoj.k Úgkl

(5) gok iznq"k.kkph dkj.ks

(6) f'k{k.k vkf.k t« iznq"k.k fu;a=.k-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-401

M.A. (Part II) (Fourth Semester) EXAMINATION, 2010

ECONOMICS

(EC-401 : Macro-Economic Analysis—II)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the Loanable Fund Theory of Interest.

(ii) Explain in detail Baumol’s Inventory Theoretical Approach.

2. Answer any one of the following questions in 500 words : [20]

(i) Explain the Monetarist and Structurist approach of Inflation.

(ii) Explain the meaning, characteristics and stages of Business

cycle.

3. Answer the following questions in detail with 250 words each

(any two) : [20]

(i) Explain the post-Keynesian approach to demand for money.

(ii) Explain the Classical Theory of Interest.
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(iii) Explain Analysis of Inflation of Samuelson.

(iv) Explain the Hicks approach of Business Cycle.

4. Write short notes on (any four) : [20]

(i) Goodwin’s model

(ii) Monetary Policy

(iii) Classical approach to Macro-economics

(iv) Neo-classical view on Interest

(v) Business Cycles’ Theory of Kaldor

(vi) Solow’s approach to theory of Inflation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) vkoð;d R;k fBdk.kh lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) O;ktkpk dtkZm&fu/kh flºkar Li"V djk-

(ii) ckWeks«pk ek«lkBÓkckcrpk lSºkafrd n`f"Vdksu Li"V djk-
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2. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) p«u vfro`ºhfo"k;d eqÊkoknh o lajpukoknh n`"Vhdksu Li"V djk-

(ii) O;kikj pÿkpk vFkZ] oSfðk"VÓs vkf.k voLFkk Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar lfoLrj mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) dsUlksŸkj iSðkkP;k ekx.khpk n`f"Vdksu Li"V djk-

(ii) O;ktkpk lukruoknh flºkar Li"V djk-

(iii) lSE;wv«lups p«u vfro`ºhckcrps foð«s"k.k Li"V djk-

(iv) fgDlpk O;kikj pÿfo"k;d n`f"Vdksu Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) xqMfou izfreku

(ii) p«ufo"k;d /kksj.k

(iii) lexz«{kh vFkZðkkL=kpk ijaijkxr n`f"Vdksu

(iv) O;ktkpk uolukruoknh n`f"Vdksu

(v) dWYMkWjpk O;kikjpÿkpk flºkar

(vi) lks«ks ;kapk p«u vfro`ºh flºkar n`f"Vdksu-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-402

M.A. (Part II) (Fourth Semester) EXAMINATION, 2010

ECONOMICS

(EC-402 : Economics of Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) What is Dualism ? Critically examine the Higgin’s theory of

Technical Dualism.

(ii) Explain the term ‘Human Resource Development’. Explain the

forms (ways) and problems of Human Resource Development.

2. Answer the following questions in 500 words (any one) : [20]

(i) “International Trade is an engine of growth.” Comment.

(ii) Explain in detail the factors determining the efficiency of large

scale production.
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3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the external resources for economic development.

(ii) Explain the theory of demographic transition.

(iii) Explain the importance of Infrastructure development in developing

countries.

(iv) Explain the role of monetary policy in developing countries.

4. Write short notes on 100 words each (any four) : [20]

(i) Role of M.N.C.s in developing countries

(ii) Vicious circle of poverty

(iii) New technology and sustainable agriculture

(iv) Static gains from trade

(v) Balance growth approach

(vi) Arguments for capital intensive techniques of production.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) f}n«rkokn Eg.kts dk; \ fgfxUl ;kaP;k rkaf=d f}n«rkoknh flºkarkps fVdkRed

ifj{k.k djk-

(ii) ekuoh lalk/ku fodkl ladYiuk Li"V djk- ekuoh lalk/ku fodklkps ?kVd

(ekxZ) lfoLrj Li"V djk-
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2. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ^^vkarjjk"V™h; O;kikj gk o`ºhps baftu vkgs-** Hkk"; djk-

(ii) eksBÓk izek.kkojh« mRiknukph dk;Z{kerk Bjfo.kkÚ;k ?kVdkaph lfoLrj Li"Vhdj.k

djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) vkfFkZd fodklkdjhrkph ckgÓ lalk/kus Li"V djk-

(ii) «ksdla[;k laÿe.k flºkar Li"V djk-

(iii) fodluðkh« nsðkkar ik;kHkqr lalk/ku fodklkph Hkqfedk Li"V djk-

(iv) fodluðkh« nsðkkar p«ufo"k;d /kksj.kkph Hkqfedk Li"V djk-

4. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) fodluðkh« nsðkkar cgqjk"V™h; daiU;kaph Hkqfedk

(ii) nkfjÊÓkps nq"Vpÿ

(iii) ufou ra=Kku vkf.k ðkkðor ðksrh

(iv) O;kikjkps fLFkfrðkh« «kHk

(v) vlarw«hr o`ºh n`"Vhdksu

(vi) HkkaMo«iz/kku mRiknu ra= iºrhps leFkZu-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-403

M.A. (Part II) (Fourth Semester) EXAMINATION, 2010

ECONOMICS

(EC-403 : International Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words (any one) : [20]

(i) What is disequilibrium in the balance of payments ? Explain

the causes of disequilibrium in the balance of payments.

(ii) Describe the recent changes in the direction and composition

of India’s foreign trade.

2. Answer the following questions in 500 words (any one) : [20]

(i) Explain in detail the methods of exchange control.

(ii) State and explain the objectives and functions of International

Monetary Fund.
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3. Answer the following questions in 250 words (any two) : [20]

(i) State in detail the role of Multinational Corporations.

(ii) Explain India’s import and export policy since 2000.

(iii) Explain the merits of fixed exchange rate.

(iv) Explain in brief the Heckscher-Ohlin theory of International

trade.

4. Write short notes on (any four) : [20]

(i) Types of terms of trade

(ii) Components of Balance of Payments

(iii) Impact of foreign investment on Indian economy

(iv) Non-tariff barriers

(v) Objectives of World Trade Organization

(vi) Intra-industry trade.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d R;k fBdk.kh lqcd vkœrh dk<k-

1. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(i) O;ogkjrks«krh« vlarq«u Eg.kts dk; \ O;ogkjrks«krh« vlarq«ukph dkj.ks
lfoLrj Li"V djk-

(ii) HkkjrkP;k vf«dMh« dkˇkrh« ijjk"V™h; O;kikjkph fnðkk vkf.k jpuk ;krh«
cn« foðkn djk-
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2. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(i) fofue; fu;a=.kkP;k iºrh lfoLrj Li"V djk-

(ii) vkarjjk"V™h; uk.ksfu/khph mÌh"Vs vkf.k dk;sZ lkaxk o Li"V djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) cgqjk"V™h; daiU;kaph Hkqfedk lfoLrj lkaxk-

(ii) Hkkjrkps 2000 iklwups vk;kr&fu;kZr /kksj.k Li"V djk-

(iii) fLFkj fofue; njkps xq.k Li"V djk-

(iv) vkarjjk"V™h; O;kikjkpk gsDpj&vksg«su flºkar FkksMD;kr Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) O;kikj ðkrhZps izdkj

(ii) O;ogkjrks«krh« ?kVd

(iii) ijfd; xqaro.kwdhpk Hkkjrh; vFkZO;oLFksojh« izHkko

(iv) izðkqYdsrj vMFkˇs

(v) tkxfrd O;kikj la?kVusph mÌh"Vs

(vi) vkarjm|ksx O;kikj-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-404

M.A. (Part II) (Fourth Semester) EXAMINATION, 2010

ECONOMICS

(EC-405 : History of Modern Economic Analysis)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i) Critically explain the theory of value by Hicks.

(ii) Explain fully the contribution by Ohlin in International Trade.

2. Answer any one of the following questions in 500 words : [20]

(i) Elucidate the Economic Geography stated by Paul Krugman.

(ii) Explain critically the Life Cycle Theory by Modigliani.

3. Answer any two of the following questions in 250 words each : [20]

(i) State in detail the contribution by Gunnar Myrdal in Developmental

Economics.
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(ii) State how does Stigler contributed in Industrial Economics.

(iii) Explain the portfolio theory by Tobin.

(iv) Why has the quantity theory of money by Friedman been called

‘Old wine in new bottle’ ?

4. Write short notes on (any four) : [20]

(i) Preference theory by Paul Samuelson

(ii) Consumer theory by John Hicks

(iii) Nash Equilibrium

(iv) The views of Amartya Sen on distribution of wealth

(v) Endogenous growth theory

(vi) Permanent income theory.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs eqÌslwn vkf.k usedh vlkohr-

(iv) vkoð;d R;k fBdk.kh lqcd vkœR;k dk<koh-

1. [kk«h«iSdh dks.krkgh ,dk izðukph 500 ðkCnkar mŸkjs f«gk % [20]

(i) fgDl ;kaP;k eqY; flºkarkps fVdkRed ifj{k.k djk-

(ii) vksg«hu ;kaps vkarjjk"V™h; O;kikjkrh« ;ksxnku lfoLrj Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkjs 500 ðkCnkar f«gk % [20]

(i) ikW« ÿqxeu ;kaph vkfFkZd Hkqxks« gh ladYiuk lfoLrj Li"V djk-

(ii) eksnhX«hvkuh ;kaP;k thoupÿ flºkarkps fVdkRed ifj{k.k djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk % [20]

(i) vkfFkZd fodklkrh« xqUukj feMkZ« ;kaps ;ksxnku lfoLrj lkaxk-

(ii) fLVX«j ;kauh vkS|ksfxd vFkZðkkL=ke/;s dls ;ksxnku fn«s vkgs rs lkaxk-

(iii) VkWfcu ;kapk jks[kklaxzg flºkar Li"V djk-

(iv) ^uohu ckV«he/;s twuh nk#* vls f›MeuP;k flºkark«k dk EgV«s vkgs \

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) ikW« lWE;qv«lu ;kapk ilarh flºkar

(ii) tkWu fgDl ;kapk miHkksDrk flºkar

(iii) uWðk ;kapk larw«u flºkar

(iv) laiŸkhP;k foHkktukckcr veR;Z lsu ;kapk n`"Vhdksu

(v) vartkZr o`ºh flºkar

(vi) LFkk;h mRiUu flºkar-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3805]-101

M.A. (Part I) (First Semester) EXAMINATION, 2010

HISTORY

Compulsory Paper I

(History and Its Theory)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1. Attempt any one of the following questions in 500 words : [20]

(1) Explain the various definition of history with examples.

(2) Explain the relation between Economics and History.

2. Attempt any one of the following questions in 500 words : [20]

(1) What are the main features of Enlightenment theory ?

(2) What is post-structuralism ? Give its impact on the writing of

history.

3. Attempt any two of the following questions in 250 words each : [20]

(1) Explain the cyclic theory of history.

(2) Examine the materialistic interpretation of history.

P.T.O.
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(3) What is post-modernism ? Explain it.

(4) Examine the tradition of history writing in Ancient India.

4. Write short notes on any four of the following questions in

100 words each : [20]

(1) Greco-Roman’s contribution of history writing

(2) Ranke

(3) Church history writing

(4) Explain the impacts of Romantic theory on the writing of history

(5) Ibn Khaldun

(6) Antonio Gramsci’s concept of Hegemony.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) loZ izðukauk leku xq.k vkgsr-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) bfrgklkP;k fofo/k O;k[;k mnkgj.kklfgr Li"V djk-

(2) bfrgkl vkf.k vFkZðkkL= ;kaP;krh« laca/k Li"V djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) cqfºoknh flºkarkph eq[; oSfðk"VÓs dk; gksrh \

(2) mŸkj&lajpukokn Eg.kts dk; \ mŸkj&lajpukoknkps bfrgkl «s[kukoj dks.krs ifj.kke
>k«sr rs foðkn djk-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaps mŸkj izR;sdh 250 ðkCnkr f«gk %  [20]

(1) bfrgklkrh« pÿkdkjxrhpk flºkar Li"V djk-

(2) bfrgklkrh« HkkSrhdoknh feekalsps ijh{k.k djk-

(3) mŸkj&vk/kqfudokn Eg.kts dk; \ Li"V djk-

(4) izkphu Hkkjrkrh« bfrgkl «s[ku ijaijsps ijh{k.k djk-

4. [kk«h«iSdh dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkr) % [20]

(1) bfrgkl «s[kukrh« fxzd&jkseukaph dkefxjh

(2) jkads

(3) ppZ bfrgkl«s[ku

(4) bfrgkl «s[kukojh« LoPNanrkoknkps ifj.kke

(5) bCu [kkYnwu

(6) vUrksfuvks xzkephpk izHkqRookn flºkar-


	3804-101
	3804-102
	3804-103
	3804-104
	3804-105
	3804-106
	3804-107
	3804-108
	3804-201
	3804-202
	3804-203
	3804-204
	3804-205
	3804-206
	3804-207
	3804-208
	3804-301
	3804-302
	3804-303
	3804-304
	3804-305
	3804-306
	3804-307
	3804-308
	3804-401
	3804-402
	3804-403
	3804-404
	3805-101

